
DCS 104 (DISCRETE STRUCTURES) ASSIGNMENT for Lecture Group 2 (26th August, 2014).

1. There are two families A and B. There are 4 men, 2 women and 1 childin family A; and 2 men, 3 women and 2 children in family B. Theyrecommended daily allowance for calories i.e. Men : 2000, Women :1500, Children : 1200; and for proteins is Men : 50 gms., Women : 45gms., Children : 30 gms.
(a) Represent the above information by matrices.
(b)using matrix multiplication, calculate the total requirements of calories and proteins for each of the families.(2.5 marks)


2. Two shops A and B have in stock the following brand of tube lights:

	Shops
	Brand

	
	Bajaj
	Philips
	Surya

	Shop A
Shop B
	43
24
	62
18
	36
60




Shop A places order for 30 Bajaj, 30 Philips, and 20 Surya brand of tube lights, whereas shop B orders 10, 6, 40 numbers of the threevarieties. Due to the various factors, they receive only half of theorder as supplied by the manufacturers. The cost of each tube lights of the three types are Rs. 42, Rs. 38 and Rs. 36 respectively. Representthe following as matrices:
(i) Initial stock (ii) the order (iii) the supply (iv) final stock (v) cost of individual items (column matrix) (vi) totalcost of stock in the shops.(2.5 marks)
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